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General Instructions:

L Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 54/ ASS / 4-A on the Answer-Book.

% (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

Strafas™ ( fagr=)

(314)
Time : 3 Hours | [ Maximum Marks : 80
9 ; 3 92 ] [ quis : 80
Note : (i)  This Question Paper consists of 30 questions.

(i)  All the questions are compulsory.
(i) Marks for each question has been indicated against it.

(iv) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D),
out of which one is the most appropriate. Choose the correct answer among
the four alternatives and write it in your answer-book against the number
of the question. No Separate time is allotted for attempting multiple-choice
questions.

fdor: () T UE-TIH 30 WA
(i) wt yva frEd €
(iii) WoIE U F 3 ITF 99 9 T €

(iv) TES 99 FHF 1 9 8 TF, TIF W § 91 dfedsd IW (A), (B), (C) 3R
(D) fei ™A ¥ ford 9 v Té 1 waifue 3fEa ¥ 1 9R defes oo § 9 wE 3w
Ifa T 3] T SW-fEE § W wHIE & 9 fated | siTe-ae

fora srem @ gua =@ fean s
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1.  What does the following sequence represent ?

Blue green algae — Crustose lichens

!}
Shrubs < Mosses « Foliose lichens
\)
Dicotyledonous trees
(A) Ecological succession (B) Genetic drift
(C) A Food pyramid (D) Phylogenetic trend
freafafea smwa fege feao #ta 22
-z et — FES (T
!
ST  UE « Fifasis (9ftfer) e
&
feeiterast g
(A) oifefaes e (B) emgaAfY fa=e
€) wm fitfaz (D) faesia wgfd
2. Tofillin the blank, in the box of the Nitrogen Cycle given below ; choose the appropriate =~ 1
option :
Atmospheric Nitrogen

Leguminous Plants

r

Soil Nitrates

(A) Nitrifying bacteria in the soil
(B) Nitrifying bacteria sticking to roots of leguminous plants.
(C) Nitrogen fixing bacteria in the soil
(D) Nitrogen fixing bacteria in the root nodules of leguminous plants.
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3. tRNA 1

anticodon

UCA
mRNA

Pick the mRNA codon which will pair with the anticodon UCA of tRNA :
(A) TGT (B) GAU (C) AGU (D) AGT
tRNA
i

UCA

mRNA

fr=fafad § 39 mRNA F1E1 1 9T S tRNA & Geisie UCA % 919 78 &A1 @ ¢
(A) TGT (B) GAU (C) AGU (D) AGT
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The thin and tough outer covering of the striated muscle fibre is known as :

(A) Neurilemma (B) Sarcolemma
(C) Plasmalemma (D) Medullary Sheath
figa et 9 % T 3R g A SR F

(A) dfFrsT (B) e

(C) T (D) HEIERI 3o

The unique method of sex-determination in honey bees is referred to as :

(A) XX- XY type (B) ZW -ZZ type

(C) Haplodiploidy (D) Parthenogenetic type
R # fom- o 91 srE ffe 31 e £

(A) XX-XY FHR (B) ZW -ZZ 9FR

(C) 1o famgforen (D) ST YR

Almost 75% of the total immunoglobulin found in humans is :

(A) IgG (B) IgaA ©) IgM (D)
AHal § Fo1 AT 1 T 75% B ©
(A) IgG (B) IgA (C) IgM (D)

Identify a fungal disease of humans :

(A) Tumours (B) Leprosy (C) Malaria (D)
HEl % UF Fa% W H1 989090
(A) ¥z (B) TS (C) wafen (D)

IgD

IgD

Ringworm
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8.  Apples and Pears are examples of : 1

(A) True fruit (B) Parthenocarpic fruit
(C) False fruit (D) Composite fruit
T 3T AT e ¥
(A) ArEfa® F (B) &fTiFer %l
(©) %W (D) WIH P
9.  Distinguish between a test cross and a reciprocal cross. 2

Tend FEF (F19) 3R Fohd F9 § Ha AR

10. (a) What are the three main functions of Immunological defence ? 2
(b) Name the two Primary lymphoid tissue.
(a) iowen TRan & 99 yE w8 FH-H € 7
(b) =1 WufE wEEY S % AW TR

11. State any two common deficiency symptoms in plants and name any two elements in 2
each case that cause the deficiency.

T F FIE T A A WAL FACY T FIF & G2y H TH-TH ] & A9 Fasy (691w
RO A1 I B S E |

12. Expand the following : 2
(a) BCG (b) DPT
Fr=fafed =1 @ - 90 99 F6RT |
(a) BCG (b) DPT

13. (a) Give the overall chemical equation to represent Photosynthesis. 2

(b) Name the two categories of photosynthetic pigments present in higher plants.
(a) T Hyergo w1 FETm w5 aren guu qHEtE THEw SarE |
(b) =GR I H T A A T TR ST guihi & 4ol 3 AW SRy |
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14. Draw a neat and labelled diagram of the structure of the human sperm. 2

A AT T EEA 1 TF To9 AR AR ARG TR |

15. List any four functions of Proteins in our body. 2

TR YRR | UIEH1 & F15 =R FE1 & gH1 998 |

16. Define the term Phyllotaxy. Draw diagrammatic sketches to show the three types and 2
give one appropriate example in each case.

Toife=a A wee %1 i fafgn ) 9 yeR F wuigas w5 eee ¥ o smr o
FAET YT TIF F TH-UF IS0 S0 |

17. Give the karyotype of the following : 2
(@) Turner’s syndrome
(b) Down's syndrome in males
fr=fafea & TorRETET FaET
() TR fagm
(b) T H = fHEm

18. Draw a neat diagram of the Excretory system in humans and label the following 2
parts :

kidneys, ureter, urinary bladder and urethra.
qHEl & 369 - 97 31 UF W5 JE T95U0 791 3949 f=fafas g =1 9w Fire

T, AT, A TR TR |

19. Distinguish between “broad spectrum antibiotics” and “narrow spectrum antibiotics”. 2
Give one appropriate example in each case.

"3tz T wfmfaEi’’ oir o wreem wfefaEi | A9 FaRul T AHd ° UH-U%
ITgeR TR S|
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20. Briefly explain with the help of an appropriate example - the Principle of Limiting 2
Factor.

T ITFF IS od gU ' HEER FREF ' F W #1 9E ¥ smen wifae |

21. (a) List the main characteristics of Phylum Chordata. 4
(b)  Where would vou find the following structures ?
(i)  Nephridia
(ii) Tube feet
(iii) Dorsoventrally flattened body
(iv) Carapace
(a) RO Hie 1 g fafreds 1 = IR
(b) Frefeafea dreamd we o s € 2
() T¥F®
(i) AAA-9R
(ili) JRBHWT: T KR
(

.

iv) Y=S9H

22. (a) Kavita wants to grow the following plants in her garden. She wants to know 4
from you what part of the plant she should use to propagate these plants :

(i) ginger (ii)  bryophyllum
(iii) potato (iv) rose
(b) Draw neat diagrams to distinguish between germination in Beans and Maize.
(a) Hfaa 3797 T | Freafafaa T8 S =ed €1 58 S99 S 9redt ¢ 6 3 9w
g & fo = divi & form-form wm =01 wgea =1
(i IT=F (i) @EfETH

(iif) 3T (iv) Ta=
(b) A R "FF H H H dATW W F F 6w = e TR

23. State anv two anthropogenic causes of soil erosion. +

(@)

(b) List any four methods of checking soil erosion and improving soil fertility.

(¢) Why is there a need for conservation of wildlife ?

(a) & FAWEA F FE 51 HAGSTA FHRO T30 |

(b) eI WS FI TFA F IR G139 F1 JgeR” 91 F o #:g =R fafm 1 geag
9T |

(c) = S & HI& T | AETIHA € 7
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24. Human blood can be categorised into how many groups ? A person is having blood
group A, to whom he can donate blood and from whom he can receive blood ?

e &R 1 et gfordi § afer s ohm 87 U S F Rt AR Tar 97 R
a1l & Safe | U 9T R Heal § SR foRe! TR 3 W €2

25. (a)
(b)

()
(b)

26. (a)

(b)

(@)

What is an Operon ?

With the help of diagrammatic representation briefly explain the Lac-operon in
the presence of lactose.

SR 1 B € 2
@t feunl & Ferad | AR H et # S-SR %t e § e Hifa |

Trace the path of air from the nostrils to the lungs in the human body. State the
main function of the organ in each step.

Name the organ where gaseous exchange takes place in the lungs and state two
characteristic features which helps it to do so.

G § AEER | AR BHES d% Ag-AN S0 | YorE w10 ¥ He i 37 1 7@
&Y AR |

39 S HT AW TR Sl whe ¥ Tro-fafta g R, a9 wm o % & fafire @ o
fafEe st 38 39 #1 § 9eg #:% B

27. Grass — Grasshopper — Frog — Snake

(@)

54/ASS/4-314-A |

(i) Work out the energy flow in the above food chain, if the grass has
1000 k.cal. of energy ? What will the snake receive ?

(i) What is each step of the food chain known as ?

(iii) What is the ideal number of steps in a food chain and why ?
Name the following interactions :
()  Association between insect pollinated flowers and pollinating insects.

(i) Association which is beneficial to one species and harmful to the other
species.

(iii) A relationship in which one species is benefitted while the other is neither
harmed nor benefitted.
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(a) () A =" H 1000 k.cal. S & A SR G- TN H ot -aTg T HI9 | |
1 et et wre 2t ?
(i) ETI-STe F Yo =07 Hl T HEd € 2
(iii) ot T sfEen § =Xl 1 STeY Hen # et ¢ AR i 2
(b) TreAfafed el fFst % ™ sany
() Fre-TufTa g K WEERT FHel & dd w1 weHay |
(i) o HeHdy S U st ¥ fog o envei S § iR g wivis % ferg
RIREAICAAGIRS

(i) o Tedsy foad s TS i oy B € SEfs qud TS Al e ad @
AT A

28. (a) Define the term Reflex action. 6

(b) Represent the nerve pathway of Reflex action through a diagram and label the
main parts involved.

(c) Name the type of reflex (Simple or Conditioned) involved in the following
activities :
(i) Narrowing of eye-pupil in strong light.
(i) Standing up on seeing the teacher entering the classroom.
(iii) Salivating on seeing your favourite dish.
(iv) Knee jerk.
(d) What type of lens should be used in spectacles to correct the following defects :
(i) Hypermetropia
(i) Myopia
(a) Wil foran e wreg w1 witvmn feifam |
(b) T A HI GerTd ¥ e fsHan i dfen-ua 1 Frego Fifs 9o 39 foran 4 ffea
YH@ I 1 HIR Rt |
(c) Frafafea framrem # fiea sfaed =1 9 saRT (¥ 41 WgHiad)
() O YW H @ F qael H 5H S
(i) STEATIH T FH& H AU FH TGS & T
(iii) ST T WrE-verd 3T T HE § AR S
(iv) TEAI-FEH |
(d) Fr=fafee e #1 3 0 F fau o § e 7R & o o =ife
(i) eETEIE
(i) T
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29.

30.
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(a)

(©)

(d)
(@)

(b)
(©)

(d)

Name the two enzymes which helps in unwinding the two strands of the
replicating DNA molecule.

With the help of a diagram, briefly explain the formation of new DNA strands.

If one of the DNA strand is ATCGTCCACGGC what will be the codons on the
complimentary strand ?

Distinguish between nucleoside and nucleotide.

3 3 U F AW FAE S Afaptaeiel DNA #Y % & qed (TF) F g 3
HEE HA © | '

HIE F1 FEFa ¥ DNA F U TS % 070 it = Hifa |

Ifs DNA %1 T 6% ATCGTCCACGGC ¥ o 39% T& T§% W H-4 HISH
g2

HfFErEe d@R JFamEs § S Tast |

Distinguish between :

(a)
(b)
(©

Monocotyledons and Dicotyledons
Gymnosperms and Angiosperms

Stamens in Malvaceae and Papilionaceae

frfafea § fat 99Ry -

(a)
(b)
(©)
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